Probs_Chap4_Lavalle

Saturday, May 03, 2008
11:36 AM

@ C"S{JO\C,Q_ o'(l %)\Y\A‘(\LO.Q cod 18 {/IR’SXS?_<

Iwwﬁ‘»mz p{nnmj A end +5 cendur onf Spker‘t
wah & ball —in —gpcket QLOM-.

Rod can Pé\*\,T in Om\kj olu:cd‘[:m/lfw\é& S+
Base oTp Wd @7V ’fm*\s\o\A—Q‘ y l’\ar\u, ]P\?’
Rotatipm o vod aboud s axis makes mo difference

VeoAve HA e ‘}‘\39.2, VE  condundt

vertex of VD)DD‘T/F %H
thués 6 \fb '
0 Lshﬁ j; R \V

]
)

LA CL: (X’cjﬂt)@> >

S\A‘Fc\l(.b\th‘l' odY\ﬂ{\MS

for Qe CFrQL {%TD/

Note | condidiene o not Muasszvjjf //
~

-~ S m . A N

mp hw2 solns Page 1



Lok H%: %Cll N‘(q)./v\\ >o} N‘l(e)./y\yoj /\)\l(ﬁ)‘,;\\ ?O}

He € Coren
ot Ha= CN Ry 2 W=l U W, UL

h\:chl ?\'I\WL) < O?
=gl @-mle) < of

Ns% | "o ) € o}

The manm dibfevence betugens EV £ VE coduck
a/LL\H\L O'\LWS D{M\x pormwlou " HLJCleljZ)

whon expanded as funckions ot X, Y, © .

@’ﬂm (m‘obm does ot S(Jeo‘mtj C-space. Solve w/0
(1,3
@’) A= equloteal Jrfm' Lo
4 L 0, Czﬂ))D
oﬁ/‘l‘ H\L Waru ﬁmm\{/
orncidy with Fhe Leame of €Y

ﬂoog& +he f@\[erer\a, PD{@} of

A at it lswer ledt cornar

)
The Gog = OOA \/f

mp hw2 solns Page 2




T Tha CorrLYg oQ ”\x/

\/G‘fjf{co.i ONL (loj [r\l()eo'h{bv\}: m

L o), (1,5, (L)
£2,0), C1r5), (1,-5) |

Lombr natiing on (4L,

lr\lecacPe tA\é'j VE&) i\é\é § ,\/

401 5 bodies dvee 4o move i /UZS

Ve JHVE
v é‘*%

L.EAUL, Vertod 18 fm %

5\ V|

= SEG)x ~xSEQ) = (sEq))

C & 3o- Aramsionad

Fo(vv\ Mob) ;A.S loo\r\(A

Phan el ol ng

oMSV\M e - —

W resvvjrsjj 0

One & mobius band 01( (ﬂ'\ﬂ%
cerdie of ¥l SJmQ

1 from A

The owder f-wiks shps 67Lay connpded fo €ach
othat™ 4 ’(WYY\ o hoop like o olbiws band

mp hw2 solns Page 3



s oo Tworss .

Ale ‘H\a, W\OL\‘\AS botrw( mrw{ O{on,dotaﬂLlAﬂOJF
bard ace connacted like links m @ chain .

@MSJR:OQ - Ts P double ‘{’M;\Sj{ [oa\/w{ lﬂowomo(())\«b
+o on eyhndnead swefoce , e, SxT 2

Ts the vesull & manitold 7

Yes, & o manfold w/ bow\o{am.
E\/szﬁ FD{N—\- V\ol[ o +)\Q 60{8& has a nbhd .
+ M+ s E(/lolwrum ((I-Rl) Ev (30 VST on

Hha wl%/c has o nbhd Hod & o jalf—
Q)\m\z ,

@ Tef{mL\M{YDV\ ¢ Cube . va many 7[01627%
Ak Coo if “they are Fredo move i @7

Vi = x4 = 32
FV = x4 =24 } = \28 2D Jocok.
FEE = 12xb= T2

mp hw2 solns Page 4



